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PART -D
ENVIRONMENTAL SCIENCE (71-90)

71. We should say NO to the following one.
(A) Jute bags
(B) Polythene bags
(C) Cloth bags
(D) Paper bags
B4 (B0 AE° BID HoidH0s TEXFES.

(A) =350 Sew
(B) 06 %o
(C) 10og Hod
(D) =AGY) Bod

72. Upto this age of children should not be engaged in child labour ......
(A) 18 years
(B) 14 years
(C) 21 years
(D) 16 years
e 50Uy 65 Do ProTE B ALV,

(A) 18 Bene
(B) 14 Henen
(C) 21 Seouew
(D) 16 WHeouen

73. Which animal among the following is called “Reptile” ?
(A) Monkey
(B) Rabbit
(C) Frog
(D) Snake
5 308 TRE D motope “i8iBn0s" e beodt?
a) e
(B) 5B
(C) 5%
D) 8
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74. Wooden houses are built in the north-east region of India such as
Assam, Meghalaya. The reason is .....
(A) Heavy rainfall '
(B) Droughts

(©)

Earthquakes

(D) Volcanic eruptions
STy TogES wie, Wireabed® IS oty JMoEM otk T
RIS ceereernes

(A)
(B)
(C)
(D)

75. We find this on roads. It represents

(A)
(B)
©)

ST 500 BB
550

S Soren

eiTBe wiuvdtic

Hospital
School
Police station

(D) Traffic signal

BEP S200D GeBwns Sup SrTEw. 38
........ o BOowBEoel.

-------

(D)

7L F——

(A)
(B)
(©)
(D)

ET
FET
285 S
75 S,

...... increases ground water.

Water harvesting pit.
Tanks

Canals
Dams

........ GG BoRRs Detodoold,

okt Cle )
oL
SPesden
“ofgen
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77. Recently in which state, terrorists attacked our soldiers with

78.

bombs .....

(A) Jammu and Kashmir
(B) West Bengal

(C) Uttar Pradesh

(D) None of the above.

3dde O TEed’ BEties % pIkED o T OIW?
(A) o0, S8k 885

(B) ©&ys Bomd

(C) &8s @328

(D) pa3s’ D& o

.............. President used to observe the flying birds at the sea coast
every day which lead to his experiment on rockets.

(A) Ram Nath Kovind
(B) Pranab Mukherjee
(C) Dr. A.PJ. Abdul Kalam
(D) Babu Rajendra Prasad

............... CREO B> MY WEoEdes® Eoffe mded TRY oBy
BErred® av@rioTto.

(A) oEoE 208
(B) (esdd B0

(C) owpd sovss

(D) ere CBROBSHRE
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79.

80.

81.

Nagarjuna Sagar dam was built on this river.
(A) Godavari

(B) Ganga

(C) Kaveri

(D) Krishna

TGS FNE eI weerarsansanes S8 Wyeundss.
(A) Riorsd

(B) Kex

(C) =28
(D) E‘Qo:.('g”

The head of the village is ....
(A) Sarpanch

(B) Panchayat Secretary
(C) Village Revenue officer
(D) M.R.O.

(A) BEyed

(B) Somrond igsd
(C) 2B& TS p=d
(D) N.esb.e.

This officer sanctions “Aasara Pensions” in our state .

(A) MRO

(B) MDO

(C) MEO

(D) VRO

T4 (300 @O “esitor Dogi” b I,
(A) 8s.e3b.2.

(B) on&o.d.e.

(C) 0335:.33.2..

(D) .esb.e..
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82. .. makes the soil fertile.
(A) Moulds
(B) Micro-organisms
(C) Pests
(D) Insects
............... SO FEHCBH DO,

(A) are

(B) drg@ves
(C) @S0
(D) &eosees

S AR is the example for fibre plant soaked in water to make ropes.
(A) Jute |
(B) Rose
(C) Jasmine
(D) Cotton
............... o050 DAE® e T3 ool B TG oriy Seerte.
(A) =06
(B) iood
(C) =8
- (D) @8

-

84. Amuktha malyada was written by ....
(A) Shivaji
(B) Akbar
(C) Ganapathi deva
(D) Srikrishnadevaraya
SB00E BPOKS &N (0F0 BCTD THD weecssescsense

(A) ==&

(B) e%0

(C) Kresns@des
D) FHuesoraie
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85. He is the first citizen of our State ...
Governor

Chief Minister

(C) Collector

(D) Chief Secretary

(A)
(B)

---------------

B TR, (e e,
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86. The present ‘welfare’ minister of our Telangana state is .....
(A) Jagadeeshwar Reddy
(B) Etela Rajender
(C) Koppula Eshwar
(D) None of the above.

%95 890 Beomes TG Bese TpY St

(A)
(B)
(®))
(D)

endsd o

5480 oBosd

§%yve -5—!‘555
POSE® e S,

87. Fire Service Helpline number is ....
RSTRY GBS HOBED urerseres

(A)
(B)
€
(D)
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88.

89.

90.

(A) play with sharp tools.

(B) run after a kite on the road.
(C) play near an open manhole.
(D) All the above.

54 (300 TIE* DawErE.

(A) B8PS Bs0e eststio

(B) mdiswe 5% 5% $oRGEe
(C) B0 &y Shoempe 5 wtsdo

D) sy

To avoid attack of insects and fungi on food grains, we use

(A) Mango leaves
(B) Tamarind leaves
(C) Curry leaves
(D) Neem leaves

eiT8Y IR OIS Be) SPEATECT® errernens

(A) SPWE eoen
(B) Qo8 esfen
(C) sodr%e
(D) *>%e

Reduction of greenery is leading to
(A) Warming of Earth.

(B) Decreasing rainfall.

(C) A andB.

(D) None of the above.

BP0 BAPOES 5O weverenes

(A) PR Iako,BocB.

(B) ngTvo HRDBs0D.

(C) A %Hedcin B.

(D) 3.
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